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For this paper you must have:
e a clean copy of the Sources Booklet (enclosed)
e an AQA 8-page answer book.

Time allowed
e 1 hour 15 minutes

Instructions
e Use black ink or black ball-point pen.
o Write the information required on the front of your answer book. The Examining Body for this
paper is AQA. The Paper Reference is 40702.
e Answer questions from two of the five options. Answer all questions on the options that you
choose.
— Option 1: Conflict and Co-operation
— Option 2: Prejudice and Persecution
— Option 3: Global Inequality
— Option 4: Family and Socialisation
— Option 5: People and Work
e Do all rough work in your answer book. Cross through any work you do not want to be marked.

Information
e The sources for use with the questions are provided in a separate booklet.
e The marks for questions are shown in brackets.
e The maximum mark for this paper is 72.
e Quality of Written Communication will be assessed in your answer to the final question for each
option. In these questions, you will be marked on your ability to:
— use good English
— organise information clearly
— use specialist vocabulary where appropriate.

Advice
e You are advised to spend approximately 35 minutes on each of the two options that you choose.
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Answer questions from two options only. Answer all questions on the options that you choose.

Option 1: Conflict and Co-operation

Total marks for this option: 36 marks
Using Source A, give two examples of segregation in the USA. (2 marks)
Using Source B, explain why the Montgomery Bus Boycott was successful. (4 marks)

Assess the view that peaceful protest can successfully resolve national conflict.
Use Sources A and B and your own studies to answer. (12 marks)

Give the meaning of the term ‘power’. Use your own studies to answer. (2 marks)

Briefly explain two effects of individual or small group conflict. Use your own studies to
answer. (4 marks)

Explain why democracy can help to protect the freedom of individuals. Use your own
studies to answer. You should write about at least two of the following:

authority

rights

responsibilities

dictatorship. (12 marks)
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Option 2: Prejudice and Persecution

JHE B E

Total marks for this option: 36 marks

Using Source C, give two ways in which the Criminal Justice System in England and
Wales can punish offenders. (2 marks)

Using Source D, explain why the Criminal Justice System is important in protecting
individuals from discrimination in the UK. (4 marks)

Assess the view that all citizens of the UK can expect fair treatment from the Criminal
Justice System. Use Sources C and D and your own studies to answer. (12 marks)

Give the meaning of the term ‘persecution’. Use your own studies to answer. (2 marks)
Briefly explain two effects of discrimination. Use your own studies to answer. (4 marks)

Explain how the level of prejudice in society can be influenced by the media. Use your
own studies to answer. You should write about at least two of the following:

ignorance

stereotypes

the role of socialisation

intolerance. (12 marks)

Turn over for the next option

Turn over »
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Option 3: Global Inequality

4 BE H HE

Total marks for this option: 36 marks

Using Source E, name two countries with a GDP per capita less than the UK.
(2 marks)

Using Source F, explain one advantage and one disadvantage of using a ‘poverty line’
based only on income. (4 marks)

Assess the view that measuring wealth and poverty is difficult. Use Sources E and F
and your own studies to answer. (12 marks)

Give the meaning of the term ‘colonialism’. Use your own studies to answer. (2 marks)

Briefly explain two causes of low life expectancy in less economically developed
countries (LEDCs). Use your own studies to answer. (4 marks)

Explain why the terms of trade between less economically developed countries (LEDCs)
and more economically developed countries (MEDCs) is unfair. Use your own studies to
answer. You should write about at least two of the following:

primary product dependency

the poverty cycle

debt burden

corruption. (12 marks)
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Option 4: Family and Socialisation

JHH HEE

Total marks for this option: 36 marks
Using Source G, name two places where arranged marriages are common. (2 marks)
Using Source H, explain why more arranged marriages are failing. (4 marks)

Assess the view that arranged marriages have no place in UK society today.
Use Sources G and H and your own studies to answer. (12 marks)

Give the meaning of the term ‘cohabitation’. Use your own studies to answer. (2 marks)
Briefly explain two functions of the family. Use your own studies to answer. (4 marks)

Explain how the pattern of family life is changing in the UK. Use your own studies to
answer. You should write about at least two of the following:

household structure

family size

marriage

divorce. (12 marks)

Turn over for the next option

Turn over »
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Option 5: People and Work

d HE HEE

Total marks for this option: 36 marks
Using Source |, give two examples of flexible working. (2 marks)
Using Source J, explain why flexible working may save money for employers. (4 marks)

Assess the view that flexible working improves productivity. Use Sources | and J and
your own studies to answer. (12 marks)

Give the meaning of the term ‘consumer’. Use your own studies to answer. (2 marks)

Briefly explain two reasons why workers might experience job satisfaction. Use your
own studies to answer. (4 marks)

Explain how economic migration affects the UK economy. Use your own studies to
answer. You should write about at least two of the following:

skills

employment

the European Union

globalisation. (12 marks)

END OF QUESTIONS
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